This page was exported from - Latest Exam Prep
Export date: Sat Sep 21 13:49:29 2024 / +0000 GMT

Pass 200-901 Exam with Updated 200-901 Exam Dumps PDF 2023 [Q98-Q118

' J | »

Dumps PDF 2023 [Q98-Q118]

Pass 200-901 Exam with Updated 200-901 Exam Dumps PDF 2023
200-901 Exam Dumps - Free Demo & 365 Day Updates

NEW QUESTION 98

Refer to the exhibit.

def get_result()
url =”https:f/sandhoxdnac.cisco.coqufi‘p‘?,{ieggﬁfg?ﬂ/api/vlfauth/token”
ceprep-

resp = requests.pgggaﬁﬁ&élt‘ﬁgﬁﬂﬁBasicAuth(DNAC_USER, DNAC_PASSWORD))
{X._.‘E"'— . -

result = resp.json()[‘Token’]

return result
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What does the python function do?

* |t returns DNAC user and password.

* |t returns HTTP Basic Authentication.
* |t returns an authorization token.

* |t reads atoken from alocal JSON file and posts the token to the DNAC URL.

NEW QUESTION 99

In Python, which expression checks whether the script returns a success status code when the Requests library is used?

* response.status _code == requests.codes.ok

* response.code == requests.codes.ok

* response.status _code == requests.ok

* response.status _code != requests.codes.ok
Explanation/Reference: https://real python.com/python-requests/

NEW QUESTION 100

In the test-driven development model, what is changed after atest fails?
* test

* schedule

* project requirements

* code

NEW QUESTION 101

What is the purpose of aMAC address?

* Touniquely identify arouter inaLAN

* Touniquely identify anetwork interfaceinaLAN
* To uniquely identify a device on the internet

* Touniquely identify aswitchinaLAN

NEW QUESTION 102

When using the Bash shell, how it the output of the devnet command saved to atile named & #8220;output.txt& #8221;?

* devnet & output.txt
* devnet > output.txt
* devnet < output.txt
* devnet | output.txt

NEW QUESTION 103
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GET getNetworkHttpServers
https://api.meraki.com/api/v0/networks/ :networkId/httpServers
List the HTTP servers for a network Om

AUTHORIZATION Tep :
. ceP
API Key Ge ﬁ\w \l

This request is using an authorization helper from collection Meraki Dashboard
API

HEADERS

Accept

*/*

Refer to the exhibit. A developer is creating a Python script to obtain alist of HTTP servers on a network named office_east by
using the Cisco Meraki API. The request has these requirements:

* Must time out if the response is not received within 2 seconds.

* Must utilize client certificates and SSL certificate verification.

* Must utilize basic authentication that uses a username of admin and a password of cisco.
* Must save the response to an object named response.

Drag and drop the code snippets from the bottom onto the blanks in the code to meet the requirements. Not all options are used.

import requests

from requests.auth import HTTPBasicAuth

network = 'office esast'

url = 'https://api.meraki.com/api/v0/networks/{}/httpServers'.format (network)

= requests.get (url=url, headers={ jdm' s UESLE L
verify="'/etc/pki/tls/certs/ca.pem', ep C
T L

timeout= - ’ \,CGQ
ﬂ&Wi‘/tls/certs/client .penm’',

v /etc/pki/tlsM%fclient .key'),

auth= ('admin', 'cisco'))

response.status code

token response 2

HTTPTokenfuth HTTPBasicAuth cert
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import requests

from requests.auth import HTTPBasicAuth

network = 'office esast'

url = 'https://api.meraki.com/api/v0/networks/{}/httpServers'.format (network)

response = requests.get (url=url, headers= dm vELEY
verify="'/etc/pki/tls/certs/ca.pem’', ‘-ep G

timeout=

cert eﬁ\ "/tls/certs/cllent pem',
s

'/etc/pki/’tls /client.key'),

auth= | HTTPTokenAuth ('admin', 'cisco'))

response.status code

token response 2
HTTPTokenAuth HTTPBasicAuth cert
NEW QUESTION 104
Refer to the exhibit.
§ diff -u5 fish.py cat.py
--- fish.py 2020-01-02 09:41:02.840000000 +0100
+++ cat.py 2020-01-02 09:41:06.8859999800 +0100

@@ -160,11 +160,12 @@

@single request timeout.setter CQm
def single request tmeout(self

wwaThe timeaut Secon mr REST API request.”””
aJassr, B J.on —‘I'ruej

- asser iz’ or value > 0
+ if v s not Nene and value <= 0:
+ raise ValueError(“single request timecut must be positive integer”)

self. single request timeout = value

@property
def wait on rate limit(self)
“WwhAutomatic rate-limit handling.

The output of a unified diff when comparing two versions of a python script is shown. Which two &#8220;single request _timeout
()&#8221;
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@single request timeout.setter y
def s ingl ol iy st{salf, w Yi el
===The timeout (seconds) for a single WTTR REST APT request.” "
eheck type{value, int, sptisnal=Truc)
self._single_request_timecut = walue
o file: cat.py

1ra

173 @eingle request TLBoout . selTor

ara def zingle_request timeout{self, valus): i

17% w=trhe timsout (seconds) for a Ao L ATT MRS AP st -

re chwck_type(value, int, aptiiaal -Trs oy

i £ wana AR ra ue S 8 i

::: i '::‘:r i :_-:.- et (A LA Feuayil_timeout wust be podiTive’ Intagert)

L7 solF. afinile ri oy Dimelutts valus

L ams e e e —

G0 || Eefshey

1w

161 @slngle_r

162

163

104

165

166

i checi_typelvalue.
3 assort value 1s Ko

165 5

e if walue s o

1é inlf. single_Te
168

OR

I AULLIALLE IateTLIMmIT nanaling.

Refer to the exhibit. The output of a unified diff when comparin i ipti i
uto g two versions of a Python script is shown. Which two "single " fiu
cat.py, where the left column indicates the line numbers of the fish.py and cat.py code Iislings??t{Choose two.) P

@

Line File: cat.py
173 @single_requast_timeout.setter
174 | def single_request_timeocut (self, value):
175 #Tha timeout (seconds) for a single HTTP REST API request.
176 check type{value, int, optional=Trua)
177 if value is not None and value <= D:
178 raise ValueError("timeout value must be postive int")
179 self.single request_timeout = value

1 180

.

Line File: cat.py
e 160
! 161  @single_request timeout.setter
£2  daf single request timeout (self,
| ¥The timeout (seconds) for
check types(value, 1nt @ GOpaiLe
if walue is not None

raise ValueErro
i 16" self single reguest

raquest.

int™)

| Line File: fish.py
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File: fish.png

@single request timeout.setter

def single regquest timeout(selsf, valuej: .
#The timeout {(seconds) for s singie HITP REST AFI request.
check typelvalue, int, sptional=Truse}

assert value is None or value > §
self.single request timecut = value

* Option A
* Option B
* Option C
* Option D

NEW QUESTION 105

R -

rile: cat.py

" APT regquest.

T be postive int®) —

Which action resolves a401 error in responseto an HTTP GET that isissued to retrieve statement using RESTCONF on a CSR

1000V?

* Change the HTTP method to PUT.

* Change the transport protocol to HTTPS.

* Check the MIMF typesin the HTTP headers.
* Check the authentication credentials.

NEW QUESTION 106

Refer to the exhibit.
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E——
|

D OWASP_threats
© SO
is not a secure web page.

Which OWASP threat does this example demonstrate?
* broken access control

* SQL injection

* man-in-the-middle

* cross-site scripting

NEW QUESTION 107

10.10.13.10/25

Rl#sh ip ro
Gateway of last resort is 10.10.10.18 to network 0.0.0.0

10.0.0.0/8 is wvariably subnetted, 4 subnets, 3 masks
10.10.10.0/30 is directly connected, FastEthernet0O/1
10.10.13.0/25 [110/6576] wia 10.10.10.1, 06:58:21, FastEthernet0/1
10.10.10.16/30 is directly connected, FastEthernet0/24
10.10.13.144/28 [110/110] wvia 10.10.10.1, 06:58:21, FastEthernet0/1
* 0.0.0.0/0 [20/0] wvia 10.10.10.18, 01:17:58

Hoaon

Refer to the exhibit. Which type of route does R1 use to reach host 10.10.13.10/32?
* default route
* network route

Pass 200-901 Exam with Updated 200-901 Exam Dumps PDF 2023 [ Q98-Q118] | Page7/15 |


https://certify.vceprep.com/?p=686
https://certify.vceprep.com/?p=686

This page was exported from - Latest Exam Prep
Export date: Sat Sep 21 13:49:32 2024 / +0000 GMT

* host route
* floating static route
Section: Network Fundamentals

NEW QUESTION 108

Refer to the exhibit.

What is the function of the python script?

* Count and print the total number of available devices.

* |terate over alist of network devices and write al device names and management | P addresses to an output file.

* |terate over alist of network devices and write all device type and associated management | P address.

* For each device that is returned, display the device and, for each device, print the device name and management | P address.
* Loop through the returned list of network devices and, for each device, print the device name management | P address.

NEW QUESTION 109

What are two benefits of managing network configuration via APIS? (Choose two.)
* more security due to locking out manual device configuration

*configuration on devices becomes less complex

* eliminates the need of legacy management protocols like SNMP

* reduction in network changes performed manually

* increased scalability and consistency of network changes

NEW QUESTION 110

Refer to the exhibit.

i

e ..d..u

il LJ

= Q
"
i

_. |

Which two statements about the network diagram are true? (Choose two.)
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* PC-A and PC-B are in the same subnet.

* One of the routers has two connected serial interfaces.
* The subnet of PC-C can contain 256 hosts.

* R1 and R3 are in the same subnet.

* The subnet address of PC-B has 18 hits dedicated to the network portion.

NEW QUESTION 111

Refer to the exhibit.

What is the value of the node defined by this Y ANG structure?

* Option A
* Option B
* OptionC
* Option D
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https://tools.ietf.org/html/rfc7950#section-9.12

NEW QUESTION 112

In which situation would an edge computing solution be used?
* where low latency is needed

* where high CPU throughput is needed

* where fast memory is needed

* where high disk space is needed

NEW QUESTION 113

Refer to the exhibit.

module ietf-ip | module ietf-interfaces {

namespace "urn:letf:params:xml:ins:yang:ietf-ip”; u—q:-e:: iparamsixml:ns:yang:ietf-
prefix ip;

import ietf-incezfaces |

preafix 1if; typedes cerface-ref |
} type leafref
augment "/if:interfaces/if:inzezface” { pash "/if:incerfaces/ifiincerface/ifiname”;

container ipvd |
leaf enabled |
'ype boclean;
default true;

..3' address {

kay “"ip%; e > tring;
leaf ip { v

type inet:ipv o=Z0 ziptica {
} Type stTring:
chotc }

e ue; leaf type {

leaf ‘e..u-.o-g k{ type identityref {
.y‘e uinthd { base ;.-e-'ace-'y*t
zange "0..32%; }
} mandatory true;
! )
ieaf netmask { leaf enabled {
type yang:dotted-quad; type booclean;

default "true”;

Which JSON snippet configures anew interface according to YANG model?
A)

"ietf-interfaces:interface": {
"name™: "LoopbacklOO",

"enabled": true,
"ietf-ip:ipv4": ‘{ep-oom

"1p®: ¥10.255.254.1%,
"netmask"™: "255.255.255.0"

¥ 3 )
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B)

"ietf-interfaces": {
interface™: {
"name": "LoopbacklO0",
"enabled": true,

"tett- ip"' ép\' ep- LT
cﬁa-{ resa" [

"ip®: *10.255.284:.1",
"netmask®™: %*255.255.255.0"

¥ 1113

C)

* interface®™: {
"name": "Loopbackl00",
"enabled"™: true,
"ipvd": { com
address" : ép"ep :

oe‘ﬁw "%10.255.254.1",

"netmask®™: %"255.255.255.0"
P 1)

D)
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"ietf-interfaces:interface"™: {
"name”: 'LoopbacklOO'
"enabled": true,
“ietf- 1p ss"
{
'1p': "10.255.254.1',
"nataask™: *2355.2595.253.0"

} ]

* Option A
* Option B
* Option C
* Option D

NEW QUESTION 114

What are two advantages of the Model-View-Controller software design pattern? (Choose two.)
* allows for multiple views of the same model

* separates responsibilities of the code, which makes future modifications easier

* simplifies network automation

* makes code easier to deploy using CI/CD pipelines

* reduces need for error handling

NEW QUESTION 115

Drag and drop the code from the bottom onto the box where the code is missing in the Bash script to complete the missing
assignment.

£!/bin/bas!

m
E ;I”ﬂ”'wne use/ épr.@g;qgcrurrvr AL S

[_ G@j‘-‘}ua usr/path/data_folder

tar =cpif SDESTINATION ZS0URCEFOLDER

o el ([ frmem——
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$!/bin/bash

BACKUPTIME I:‘m:a +hb=Rd-4y"

'1(:- 8/ N/ PACAY dat a folder
€
s

tar -cp=f SDESTINATION SSCURCEFOLDER

com
DESTINATION ShEa FORD; ép‘*,@g SBACKUPTIME.

-g=2

k BACKUPTIME | ! SOURCEFOLDER I * DESTINATION i

£i/pin/bash

BACKUPTIME =ldate *Sh-Fd-%y
|.. com

| SOURCEFOLDER =/heme/usr/path/data_foldetr

tar -cpef SDEATINATION SSQURCEFOLDER

DESTINATION m;ﬂ&.d eh/Baskup-SBACKUDTIME . tar. g=
e

NEW QUESTION 116

Drag and drop the Dockerfile instructions from the left onto the descriptions on the right. Not at options are used.

FROM ubuntu:12.04

informs Docker that the container listens
on the specified network port(s) at runtime

VOLUME["/var/www”,” /varflog/apache2”,” fetc/apache2”]

ewxn\mnt point with the specified name
ey

.ﬁ.(..)
RUN apt-get update && apt-get mstai{_,—ewgg apachez

configures a container that runs as an executable

ENTRYPOINT[“/usr/sbin/apache2ctl”,”-D",” FOREGROUND"]

must be the first instruction in the Docker file

EXPOSE 1521
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FROM ubuntu:12.04 EXPOSE 1521

VOLUME["/var/www”,” /var/log/apache2”,” [etc/apache2”] { a@q@@wwww",”/var/logfapache2","/etc/apache2”
]
eebh==

. ; \ v
RUN apt-get update && apt-get Iﬂstalk:gﬁéiig apache2 ENTRYPOINT([“/usr/sbin/apache2ctl”,”-D”,”FOREGROUND
¥ ]
ENTRYPOINT[“/usr/sbin/apache2ctl”,”-D”,”FOREGROUND”] EXPOSE 1521
EXPOSE 1521

NEW QUESTION 117

Fill in the blanks to complete the cURL command that invokes a RESTful API to retrieve aresource in JSON format using OAuth.

curl -x | ~l-a -~ |: apprication/ison= \ 3
-n = | [: Benrer AncdE£123456™ https://localheat/api/myrescuscs o
GET, Accept, Authorization
Explanation
See the solution below.

curl -x 1 | -n ~ |Accept | spplication/jsen= \ By
=" i Bearer AbCAEE1I23456" hettps://localhost/api/myrescurce i

NEW QUESTION 118

Refer to the exhibit.

#!/bin/bash
read ndir

while \'[Cegﬁhéﬁw]
|ﬁ§ﬁﬁﬂ'.

cd $ndir

done

mkdir $ndir

What is the action of the Bash script that is shown?

* For al directoriesin the current folder, the script goes into the directory and makes a new directory.

* The script waits until input is entered. If the directory exists, the script goesinto it until there is no directory with the same name,
then it creates anew directory.

* The script waits until input is entered, then it goesinto the directory entered and creates a new directory with the same name.

* The script goesinto the directory called & #8220;$ndir& #8221; and makes a new directory called & #8220;$ndir& #8221;.
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